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1%= 7x 4= 10% of 30 = 57 +31=
48 + 8 = 9%= 10% of 45 = 62 + 62 =

54 =9 x V81 = 5% of 80 = 4.5 +4.5 =
6x0-= V144 = 5% of 70 = 81-37=
9x8= 1x11-= 50% of 50 = 78-53 =
4x5= 108 +12 = 50% of 150 = 34.9+22.6 =
6°= X6=18 |25%of40= 36-36 =
V36 = 60 +12 = 25% of 60 = 100 - 45 =
24 =6 X 56 = X7 |10% of 135 = 19+19=
4x3= 5% = 10% of 75 = 99 +17 =
127 = 45 =5 x 20% of 30 = 8.3+8.3=
1x1-= \/4_7= 50% of 9 = 55.4 + 45, 6 =
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X6=18 6°= 50% of 50 = 19 + 19 =
9°= 12x9= 50% of 150 = 78-53=
V81 = 6Xx8= 25% of 40 = 57 +31=
12° = 52 = 10% of 30 = 62 +62 =
45 =5 x 54 =9 x 10% of 45 = 45+4.5=
48 + 8 = V49 = 10% of 135 = 25-25=
4 x5 = 9x1-= 10% of 75 = 9+17=
V144 = 1= 20% of 30 = 81-37-=
56 = x7 |7x12= 50% of 9 = 34.9 +22.6 =
8x5= 24 =6 X 5% of 80 = 100-55=
108 - 12 = V36 = 5% of 70 = 55.4 +45. 6 =
Ox3= 1x1= 25% of 60 = 8.3+8.3=




